
NAME: Quiz #4d:
Phys270

1. 110 trtsl A larliLr sta[ion for trachimg airc:raft broaclcasls a 12 GHzmicrowave
be;un 1r-orn a 2.,1,4-rn-tliarneter circular radar antenna. From a \va\/e Jlersl>ective,
[he antentta is a cilc:ular ayrerture through which the micn>waves difliact. M/hat is
the rlianreler ol'Llie rarl:ir bearn at a distance of 40 kmP

No[e t]rat the specrl of'l ight is c:3.0 x 108 rr/s anrl I GHz: l0r' Hr.

F{int: clerivc tlte equation lirst and plug the numbers in at the last step to mahe
the ntunerical c;rlc:ulation easy!
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